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Push: SBIITEH V@~ SIA6N T& AT (TICTT W2OCNT BATH) | — Time Complexity: O(1)
Pop: SBITH AT 8IS (dd Rl - Time Complexity: O(1)
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State PUSH and POP
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Insertion: push()

push() is an operation that inserts elements into the stack. The following is an algorithm
that describes the push() operation in a simpler way.

Algorithm

1 — Checks if the stack is full.

2 — If the stack is full, produces an error and exit.

3 - If the stack is not full, increments top to point next empty space.

4 — Adds data element to the stack location, where top is pointing.

5 — Returns success.

Deletion: pop()
p() is a data manipulation operation which removes elements from the stack. The
following pseudo code describes the pop() operation in a simpler way.

Algorithm

1 — Checks if the stack is empty.

2 — If the stack is empty, produces an error and exit.

3 — If the stack is not empty, accesses the data element at which top is pointing.
4 — Decreases the value of fop by 1.

5 — Returns success.
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Explain the concept of Infix, Postfix & Prefix expression.

Infix notation: S F<Ee® @e(F (= GF6 equation =1 =418 @61 arithmetic
operator @3 72 /it {ib operand 9T | FATAGA0] & TATAE Hiod ©2F TG F04a | G2
oS 2oz 2oz infix expression. @72 A + B. A € B T(%& operand 932 + 252
SAE0E | HATAGA0 AT Hod T A |

Polish notation: «2 “&fere 77809 05 WATT© 904 &F0e | (A2 +AB 0
a9t A 99 B-(F (&A1 S4re 214 |

Postfix notation: @7 ta SI+7ab9 9037 I7((Ta~e Fo9 “td | O Reverse Polish
Notation-¢ &1 =7 | (@972 AB+ 5709 A9z B U7 TAE @7 T2 I |
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Infix to Postfix conversion

qTl, A(ECH AF0! Q2= (7 ATE (A+(BAC)*D)/C. bt (o7 o (o=t
TS0 FACS 2A | TS HEALT TR (FI JICH6 AFE 7 QFEH00S | S A TA0aSTH]
G BITF ATSAT ATHFE (@ Soad precedence SETHIS SIATESWSTET 2 | 5T FHSD
a2

(A+(B*C)*D)/C

= (A+[BC*]*D)/C {exponent €= precedence FAACELE (A= ©I3 GGF TS AT ALE)
= (A+[BCAD*])/C {BC* @ =[te D @9 &ed 7= | ©12 G519 priority (If*i}

= ([ABCAD*+])/C {[BC"D*] @3 #itd A @7 (AITF FILEa LT4=7 (A= FE @ () 99
TeLe)

= ABC"D*+C/ {[ABC"D*+] & ©i% @4l =tanz C fara)

AT NS R @ (A+(BAC)*D)/C @ (iP5 Far=s #ired ¢sisT ABCAD*+C/.
“F2 ©Ig g Infix to Polish notation @ F2(1%d a0 2I1E0d | AT4<FT @Y “SATIoaT=]
*{ta =11 =10 =isy o7 |
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Evaluation of Postfix notation
12304*4 3/ 99 99 W car= <Iel 2 =91 1, 2, 3 O 20d <Ne"l ¢5fe ~. (AeEs

BT ©F Tt G2 SATAcd TS S0 S AT ATH Iic HANAed BoF | =4re 23
= 8 «OF TS0 2T 204 | O3 (FEFob] aed g 2 3 M aF F0e | SIEts e QHERSE6T
"WieEm 1 84 * + 3 /. aFeE gdraite wiw mre afsitg ars «4if<ss | ireTT e 4. =9 a<F 99
HINTH AT =Medl ¢oe * oz Si=s a2 ad o (=9 9261 F=074 BoF =ie Faca? 5=
graz! 8 * 4 = 32 99 Z49 29 92« 32 & Hinea WEey S8 w2 8 4 ¢ a9 BiE | e
GFCE=E AierEz 1 32 + 3 /. Sta<s 99 Bt =ed =ire#r o=t + o= 1 1 + 32 = 33.
HTELo T QHEHFEoT Q€ : 33 3 /. @I FEAAT Fe a9 33 /3 = 11

e 12344+ 3/ =11

Line by line execution:

Given, 123 4 ™ + 3/ as a postfix notation.

12324*4+ 3/
=184*+3/
=132+ 3/
=33 3/

=11
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